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MODEL SET

CHEMISTRY ¼jlk;u 'kkL=½

Instructions for the candidates :-

1. Candidates are required to give answer in their own words as far as

practicable.

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa mÙkj nsaA

2. Figure in the right hand margin indicates full marks.

nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA

3. 15 Minutes of extra time has been allotted to the candidate for reading

the question carefully.

bl iz'u i= dks /;kuiwoZd i<+us ds fy;s 15 feuV dk vfrfjDr le; fn;k x;k

gSA

4. This question paper is divided into two sections: Section-A and

Section-B

;g iz'u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c

5. In Section-A, there are 42 objective type questions. Answer any 35

quesions, each carrying 1 mark. Darken the circle with black or blue

ball pen against the correct option on OMR-Answer Sheet provided

to you. Do not use Whiterner/Liquid/Blade/Nails etc on OMR-

le; % 3 ?kaVs 15 feuV
Time : 3 Hours 15 Minutes

iw.kkZad & 70
Full Marks - 70
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Answer Sheet otherwise the result will be invalid.

[k.M&v esa 42 oLrqfu"B iz'u gSa] buesa ls fdUgha 35 dk mÙkj nsa] ¼izR;sd ds fy, 1

vad fu/kkZfjr gS½] budk mÙkj miyC/k djk;s x;s vks ,e vkj&mÙkj i=d esa fn;s x;s

lgh o`Ùk dks dkys ;k uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy

inkFkZ@CysM@uk[kwu vkfn dk mÙkj iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk

ijh{kk ifj.kke vekU; gksxkA

6. In section-B, there are 18 short answer type questions (each carrying

2 marks), out of which any 10 (ten) questions are to be answered.

Apart from this, there are 06 Long Answer type questions (each

carrying 5 marks), out of which 3 questions are to be answered.

[k.M&c esa 18 y?kq mÙkjh; iz'u gSa ¼izR;sd ds fy;s nks vad fu/kkZfjr gS½] ftuesa ls

fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSAblds vfrfjDr] bl [k.M esa 06 nh?kZ

mÙkjh; iz'u gSa ¼izR;sd ds fy;s 5 vad fu/kkZfjr gS½] ftuesa ls fdUgha 3 iz'uksa dk mÙkj

nsuk gSA

7. Use of any electronic appliances is strictly prohibited.

fdlh Hkh rjg ds bysDVªkWfud midj.k dk mi;ksx iw.kZr;k oftZr gSA



[k.M&v@SECTION-A

¼oLrqfu"B iz'u½@(Objective Type Questions)

In the following question nos from 1 to 42, there is only one correct

answer against each question. Mark the correct option of any 35 ques-

tions of the following on the given OMR answer sheet. If a candidate,

answers more than 35 questions, then answers of first 35 questions will

be evaluated only. (1x35=35)

fuEufyf[kr iz'u la[;k 1 ls 42 rd ds izR;sd iz'u ds fy;s ,d gh fodYi lgh gSA

bueas ls fdUgha 35 iz'uksa dk lgh mÙkj fn;s x;s OMR mÙkj i=d esa fpfUgr djsaA vxj

dksbZ ijh{kkFkhZ 35 ls T;knk iz'uksa dk mÙkj nsrs gSa] rks izFke 35 iz'uksa ds mÙkj dh gh tk¡p

gksxhA (1x35=35)

1. fuEufyf[kr esa ls dkSu lqpkyd gS \

A. Mg B. Ge

C. Cu D. buesa ls lHkh

Which of the following is a good Conductor?

A. Mg B. Ge

C. Cu D. All of these

2. fuEufyf[kr esa ls dkSu v/kZpkyd gS \

A. Si B. Ag

C. Cu D. Fe



Which of the following is a Semiconductor?

A. Si B. Ag

C. Cu D. Fe

3. fuEu esa ls dkSu&lk lkUnzrk bdkbZ rki ij fuHkZj ugha djrh gS \

A. ukWeZyrk B. eksyjrk

C. eksyyrk D. buesa ls lHkh

Which one of the following concentration unit does not depend

on temperature ?

A. Normality B. Molarity

C. Molality D. All of these

4. lksMk okVj D;k gS \

A. ty esa CO
2
 xSl dk foy;u B. CO

2
 xSl dk xSl esa foy;u

C. Bksl esa ty dk foy;u D. buesa ls lHkh

What is soda water ?

A. Solution of CO
2
 gas in water B. Solution of CO

2
 gas in gas

C. Solution of water in solid D. All of these

5. yksgs dks tax yxus ls cpkus ds fy;s] fuEufyf[kr esa ls fdldk iz;ksx fd;k tkrk

gS\

A. PbO B. PbO
2

C. Pb
3
O

4
D. PbSO

4



Which of the following is used to protect iron from rusting ?

A. PbO B. PbO
2

C. Pb
3
O

4
D. PbSO

4

6. yksgs ij tax yxus ds fy;s fuEufyf[kr esa dkSu vko';d gS \

A. 'kq"d ok;q B. vknzZ ok;q

C. vklqr ty D. vkWDlhtu vkSj CO
2

Which of the following is necessary for rusting of iron ?

A. Dry air B. Moist air

C. Distilled water D. Oxygen and CO
2

7. fuEufyf[kr esa lcls izcy vkWDlhdkjd inkFkZ gS \

A. Cl B. F

C. I D. Br

Which of the following is the strongest oxidising agent ?

A. Cl B. F

C. I D. Br

8. /kkfRod ca/ku buesa ls fdlesa ik;k tkrk gS \

A. /kkrq B. v/kkrq

C. lk/kkj.k ued D. ty

In which of the following metallic bond is found?

A. Metal B. Non-metal



C. Common Salt D. Water

9. flusokj gS &

A. PbS B. HgS

C. Hg
2
Cl

2
D. HgCl

2

Cinnabar is -

A. PbS B. HgS

C. Hg
2
Cl

2
D. HgCl

2

10. vkWDlhtu ds ckâre d{kk dk bysDVªkWfud foU;kl gS &

A. 2s22p4 B. 2s22p6

C. 1s22s2 D. 2s22p5

The outer most electronic configuration of oxygen is -

A. 2s22p4 B. 2s22p6

C. 1s22s2 D. 2s22p5

11. eSxusf'k;e /kkrq ds ckâre d{kk esa ik;s tkus okys bysDVªkWuksa dh la[;k gS &

A. 4 B. 3

C. 2 D. 1

The number of electrons present in the outer most orbit of

 Magnesium  is -

A. 4 B. 3

C. 2 D. 1

12. p&vkfcZVy dk vkdkj gksrk gS &



A. MEcsy B. Mcy MEcsy

C. xksfy; D. buesa ls lHkh

The shape of p-orbital is -

A. Dumb-bell B. Double dumb-bell

C. Spherical D. All of these

13. fuEufyf[kr esa fdls dkfLVd lksMk dgk tkrk gS \

A. NaOH B. Na
2
CO

3

C. NaCl D. Na
2
CO

3
.10H

2
O

Which of the following is known as Caustic Soda?

A. NaOH B. Na
2
CO

3

C. NaCl D. Na
2
CO

3
.10H

2
O

14. iksVk'k ,sye gS ,d

A. ;qXe yo.k B. lk/kkj.k ;kSfxd

C. tfVy yo.k D. buesa ls lHkh

Potash Alum is a

A. Double salt B. Simple Compound

C. Complex salt D. All of these

15. ghjk esa dkcZu ijek.kq dk izladj.k gS &

A. sp3 B. sp2

C. sp D. d2sp3



The hybridisation of carbon atom in Diamond is

A. sp3 B. sp2

C. sp D. d2sp3

16.        ;kSfxd dk uke gS &

A. fQukWy B. fQukbZy

C. csfUtu gkbMªksDlkbM D. csfUtu

The name of the compound                    is -

A. Phenol B. Phenyl

C. Benzene hydroxide D. Benzene

17. csaftu esa  ¼ikbZ½ ck.Mksa dh la[;k gS &

A. 6 B. 3

C. 2 D. 4

The number of  (pi) bonds in Benzene is -

A. 6 B. 3

C. 2 D. 4

18. mtyk ,oa ihyk QkWLQksjl gS &

A. vi:i B. leHkkfjd

C. leLFkkfud D. buesa ls lHkh

White and Yellow phosphorus are -

A. Allotropes B. Isobars

OH

OH



C. Isomers D. All of these

19. fuEufyf[kr esa ls dkSu&lk /kkrq i`Foh esa izpqj ek=k esa ik;k tkrk gS \

A. Al B. Na

C. Fe D. C

Which of the following metal is abundantly found in earth crust ?

A. Al B. Na

C. Fe D. C

20. F, Cl ,oa Br dks fdl uke ls tkuk tkrk gS \

A. /kkrq B. {kkfj; /kkrq

C. gSykstu D. /kkrq ladj

F, Cl and Br are known by which name ?

A. Metal B. Alkali metals

C. Halogen D. Alloy

21. bFkhu cgqyhd`r gksdj cukrk gS &

A. ikWyhfFku B. ikWyh izkfiu

C. csUthu D. buesa ls lHkh

Ethene on polymerisation gives -

A. Polythene B. Polypropene

C. Benzene D. All of these

22. lksfM;e csatks,V vkSj lksMkykbZe ds feJ.k dks xeZ djus ij curk gS &



A. feFksu B. bFksu

C. izksisu D. csathu

A mixture of sodium bezoate and sodalime on heating forms -

A. Methane B. Ethane

C. Propane D. Benzene

23. tc fQukWy dks tLrk pw.kZ ds lkFk xeZ fd;k tkrk gS] rks curk gS &

A. csUthu B. feFksu

C. bFksu D. ftad QsukWDlkbM

When Phenol is heated with Zinc dust, it forms -

A. Benzene B. Methane

C. Etnane D. Zinc phenoxide

24. fuEukafdr esa ls dkSu ,d vfØ; xSl gS \

A. Na B. Ne

C. U D. Zn

Which one of the following is an inert gas ?

A. Na B. Ne

C. U D. Zn

25. fuEufyf[kr esa ls dkSu ck;ksfMxzsMscy cgqyd gS \

A. ukbyksu&66 B. ih0 oh0 lh0

C. csdsykbV D. lsY;qykst



Which of the following polymer is bio-degradable ?

A. Nylon-66 B. PVC

C. Bakellite D. Cellulose

26. ,fYMgkbM ds vkWDlhdj.k ls curk gS &

A. dkcksZfDlfyd vEy B. vydksgy

C. fdVksu D. ,yMkWy

An aldehyde on oxidation gives -

A. Carboxylic Acid B. Alcohol

C. Ketone D. Aldol

27. [Fe(H
2
O)

5
(NO)]SO

4 
esa Fe dh vkWDlhdj.k la[;k gS &

A. +1 B. +2

C. +3 D. +4

The Oxidation Number of Fe in [Fe(H
2
O)

5
(NO)]SO

4 
is

A. +1 B. +2

C. +3 D. +4

28. fuEufyf[kr esa ls dkSu ,d fpysfVax fyxsaM gS \

A. 1] 2 &bfFkfyu MkbZ vehu B. veksfu;k

C. bFkkbZy ,feu D. QsukWy

Which of the following is a chelating ligand ?

A. 1, 2 Ethylene diamine B. Ammonia



C. Ethyl amine D. Phenol

29.  [Co(C
2
O

4
)

3
]3- esa Co dh vkWfDldj.k la[;k gS &

A. +2 B. - 2

C. +3 D. - 3

The Oxidation Number of Co in [Co(C
2
O

4
)

3
]3- is -

A. +2 B. - 2

C. +3 D. - 3

30. fuEufyf[kr esa dkSu igyh laØe.k J`a[kyk dk rÙo ugha gS \

A. Fe B. Cr

C. Ag D. Ni

Which of the following is not an element of first transition series?

A. Fe B. Cr

C. Ag D. Ni

31. [Ni(CO)
4
] eas Ni dh vkWDlhdj.k la[;k gS &

A. 0 B. 2

C. 3 D. 4

The Oxidation number of Ni in [Ni(CO)
4
] is -

A. 0 B. 2

C. 3 D. 4



32. XeF
4 
dk vkdkj gksrk gS &

A. jSf[kd B. oxZryh;

C. fijkfeMy D. prq"Qydh;

The Shape of XeF
4
 is

A. Linear B. Square planar

C. Pyramidal D. Tetrahedral

33. fuEufyf[kr esa ls dkSu&lh xSl H
2
SO

4
 esa ?kqy dj vksfy;e dk fuekZ.k djrk gS \

A. H
2
S B. SO

2

C. SO
3

D. NO

Which one of the following gas dissolves in H
2
SO

4
 to form oleum?

A. H
2
S B. SO

2

C. SO
3

D. NO

34. Qsu mRiykou fof/k }kjk fdl izdkj ds v;Ld dk lkUnz.k djrs gS \

A. LyQkbM B. LykQkbV

C. vkWDlkbM D. dkcksZusV

Which type of ore is concentrated by Froth Floatation process?

A. Sulphide B. Sulphite

C. Oxide D. Carbonate

35. yksgs dk izeq[k v;Ld gS &

A. Fe
3
O

4
B. FeCO

3



C. Fe
2
O

3
D. buesa ls dksbZ ugha

The chief ore of iron is -

A. Fe
3
O

4
B. FeCO

3

C. Fe
2
O

3
D. None of these

36. HCOOH dk I.U.P.A.C. uke gS &

A. QkfeZd vEy B. feFkkuksbd vEy

C. ,lhfVd vEy D. bFkkuksbd vEy

The I.U.P.A.C. name of HCOOH is -

A. Formic acid B. Methanoic acid

C. Acetic acid D. Ethanoic acid

37. fdVksu dk vodj.k LiAlH
4
 / H

2
O ds lkFk djkus ij feyrk gS &

A. izkbejh ,YdksgkWy B. lsdsUMjh ,YdksgkWy

C. Vjfl;jh ,YdksgkWy D. vYdsu

Ketone on reduction with LiAlH
4
 / H

2
O gives -

A. Primary alcohol B. Secondary alcohol

C. Tertiary alcohol D. Alkane

38. dkWij dk eq[; v;ld gS &

A. dkWij ikbjkbV B. dkWij Xykal

C. xSysuk D. flMsjkbV

The chief ore of copper is -



A. Copper pyrite B. Copper glance

C. Galena D. Siderite

39. bFksukWy ty esa ?kqyu'khy gS] D;ksafd ;g ty ds lkFk cukrk gS &

A. vk;fud ckW.M B. lg la;kstd ckW.M

C. gkbMªkstu ckW.M D. mi;qZDr lHkh

Ethanol is soluble in water due to the formation of a bond with water

A. Ionic bond B. Co-valent bond

C. Hydrogen bond D. All of the above

40. CH
3
-CO-CH

3
 dk I.U.P.A.C. uke gS &

A. izksisuksu B. izksisukWy

C. izksisu D. izksisuy

The I.U.P.A.C. name of CH
3
-CO-CH

3
 is -

A. Propanone B. Propanol

C. Propane D. Propanal

41. Xyqdkst fuEufyf[kr esa fdl izdkj dk dkcksZgkbMªsV gS &

A. eksuks lSdsjkbM B. MkbZ lSdsjkbM

C. vkWfyxks lSdsjkbM D. ikWyh lSdsjkbM

Which of the following type of Carbohydrates is Glucose -

A. Mono saccharide B. Di-saccharide

C. Oligo saccharide D. Poly saccharide



42. CH
3
COOH ,d gS &

A. eksuks csfld vEy B. MkbZcsfld vEy

C. Vªkb csfld vEy D. mi;qZDr lHkh

CH
3
COOH is a -

A. Mono basic acid B. Di-basic acid

C. tri basic acid D. All of the above

[k.M&c@SECTION-B

 oLrqfu"B iz'u@Non-objective Type Questions

 y?kqmÙkjh; iz'u@Short Answer Type Questions

iz'u la[;k 1 ls 18 rd y?kqmÙkjh; gSaA fdUgha 10 iz'uksa ds mÙkj nsaA izR;sd ds fy, 2

vad fu/kkZfjr gSA (10x2=20)

Question nos. 1 to 18 are short answer type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1- vkn'kZ vkSj vukn'kZ ?kksy dh O;k[;k djsaA 2

Explain ideal and non-ideal solution.

2- ijklj.kh nkc dks ifjHkkf"kr djsaA 2

Define Osmotic pressure.

3- izkFkfed lsy ls vki D;k le>rs gSa \ 2

What do you mean by a Primary cell ?

4- vfHkfØ;k dh dksVh ls vki D;k le>rs gSa \ 2



What do you mean by order of reaction ?

5- rki c<+us ij HkkSfrd vf/k'kks"k.k ?kV tkrk gS] D;ksa \ 2

Physisorption decreases on increasing temperature. Why ?

6- QkWjkMs ds fo|qr~ foPNsnu ds nwljs ¼2nd½ fu;e dks fy[ksa ,oa o.kZu djsaA 2

State and explain Faraday's 2nd law of electrolysis.

7- ,Y;qehfu;e ,oa rkack izR;sd ds ,d eq[; v;Ld ,oa mldh jklk;fud lajpuk

fy[ksaA 1$1¾2

Write the name and chemical composition of one important ore of

each of Aluminium and copper.

8- nks foVkfeu ds uke fy[ksa ,oa mldh deh ds dkj.k mRiUu jksxksa dk uke crk;saA1$1¾2

Name two Vitamins and their deficiency diseases.

9- ekud bysDVªksM foHko dh ifjHkk"kk nsaA 2

Define standard elecrode potential.

10- fuEufyf[k ds lajpuk lw= fy[ksa %& 2

A. 2&C;qVsukWy

B. bFkkby ,slhVsV

Write the structural formula of the following :-

A. 2-Butanol

B. Ethyl acetate

11- fuEufyf[kr ds I.U.P.A.C. uke crk;sa %& 2



A. CH
2
 - COOH

CH
2
 - COOH

B. CH
3
.CO.CH

3

Give I.U.P.A.C. name of the following :-

A. CH
2
 - COOH

CH
2
 - COOH

B. CH
3
.CO.CH

3

12- fdlh ?kksy dh eksyjrk ,oa eksyyrk esa varj Li"V djsaA 2

Differentiate between Molarity and Molality of a solution.

13- jkWoy ds ok"inkc ds lkis{k voueu fu;e dh O;k[;k djsaA 2

Discuss Raoult's law of relative lowering of vapour pressure.

14- fVUMy izHkko D;k gS \ O;k[;k djsaA 2

What is Tyndall effect? Discuss.

15- fuEufyf[kr dk ifjorZu dSls djsaxs \ 2

A. QkWfeZd vEy ls QkWeZyfMgkbM

B. csaftu ls ,sfuyhu

How will you convert the following ?

A. Formc Acid to Formaldehyde

B. Benzene to Aniline

16- vfØ; xSlksa dh la;kstdrk 'kwU; D;ksa gksrh gS \ le>k,¡A 2



Explain, why the valency of inert gases is zero?

17- dkcksZdsVk;u D;k gS\ O;k[;k djsaA 2

What is carbocation ? Explain.

18- HF vkSj Hcl esa izcy vEy dkSu gS vkSj D;ks \

Which one is stronger acid, HF or Hcl? why?

nh?kZmÙkjh; iz'u@Long Answer Type Questions

iz'u la[;k 19 ls 24 rd nh?kZ mÙkjh; iz'u gSaA izR;sd iz'u ds fy, 5 vad fu/kkZfjr gSaA

fdUgha 3 iz'uksa dk mÙkj nsaA (3 x 5 = 15)

Question nos. 19 to 24 are long answer type. Each question carries 5

marks. Answer any 3 question. (3 x 5 = 15)

19. yksgs ds nks eq[; v;Ldksa dk uke fy[ksa rFkk eq[; v;Ld ls yksgs dk fu"d"kZ.k dSls

djsaxs\ vfHkfØ;k nsaA 5

Name two important ores of Iron. How is it extracted from its chief

ore? Give reactions.

20. vk;ksfMu dk eq[; L=ksr D;k gS \ bls leqnzh ?kkl ls dSls fudkyk tkrk gS \  5

What are the main sources of Iodine? How is it extracted from sea

weeds?

21. xa/kdkEy dk mRiknu ysM d{k fof/k }kjk dSls fd;k tkrk gS \ 5

How is sulphuric acid manufactured by Lead Chamber process ?

22. dkcksZgkbMªsV D;k gS\ bldk oxhZdj.k dSls fd;k tkrk gS\ 5

What are Carbohydrates? How are they classified?



23. D;k gksrk gS tc \ 5x1=5

A. dSfYl;e ,flVsV dks xeZ djrs gSa \

B. ,fFky ,ehu] HNO
2
 ls izfrfØ;k djrk gSA

C. ,lhVhyhu dks yky rIr dkWij uyh ls izokfgr djrs gSaA

D. csaftu dks lkUnz HNO
3 
,oa H

2
SO

4 
ds feJ.k ds lkFk xeZ fd;k tkrk gSA

E. bFkkby vYdksgy dk vkWDlhdj.k gksrk gSA

What happens when ?

A. Calcium acetate is heated.

B. Ethyl amine reacts with HNO
2
.

C. Acetylene is passed through red hot copper tube?

D. Benzene is heated with a mixture of concentrated HNO
3
 and

H
2
SO

4
.

E. Ethyl alcohol is oxidised.

24- fuEu dh O;k[;k djsa %& 1  $ 1  $2¾5

A. dksYcs vfHkfØ;k

B. owtZ vfHkfØ;k

C. dkckZby ,sehu vfHkfØ;k

Discuss the following

A. Kolbe's reaction

B. Wurtz's reaction

C. Carbylamine reaction

1
2

1
2




